



Name: \_\_\_\_\_

Datum: \_\_\_\_\_ Ergebnis: \_\_\_\_\_

$$\left(\frac{1}{2}\right) + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{4}\right) - \frac{1}{3} =$$

$$\left(\frac{1}{3}\right)^2 - \frac{1}{5} =$$

$$\left(\frac{1}{6}\right)^3 + \frac{3}{5} =$$

$$\left(-\frac{3}{4}\right)^3 - \frac{3}{5} =$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{3}{5}\right)^2 - \frac{3}{5} =$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{5}\right) - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{3}\right)^2 - \frac{2}{5} =$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{5}\right) + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{2}{5}\right)^3 + \frac{1}{5} =$$

$$\left(-\frac{3}{4}\right)^2 + \frac{2}{5} =$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{6}\right) + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{3}\right)^0 + \frac{1}{2} =$$

$$\left(\frac{1}{2}\right) - \frac{1}{2} =$$



Name: \_\_\_\_\_

Datum: \_\_\_\_\_ Ergebnis: \_\_\_\_\_

$$\left(\frac{1}{2}\right) + \left(-\frac{1}{3}\right) = \frac{1}{6}$$

$$\left(-\frac{1}{4}\right) - \frac{1}{3} = \left(-\frac{7}{12}\right)$$

$$\left(\frac{1}{3}\right)^2 - \frac{1}{5} = \left(-\frac{4}{45}\right)$$

$$\left(\frac{1}{6}\right)^3 + \frac{3}{5} = \frac{653}{1080}$$

$$\left(-\frac{3}{4}\right)^3 - \frac{3}{5} = \left(-\frac{327}{320}\right) = \left(-1\frac{7}{320}\right)$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{2} = \left(-\frac{7}{18}\right)$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{3}\right) = \frac{37}{75}$$

$$\left(-\frac{3}{5}\right)^2 - \frac{3}{5} = \left(-\frac{6}{25}\right)$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{3}{5}\right) = \frac{76}{135}$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{1}{2}\right) = \frac{1}{16}$$

$$\left(-\frac{1}{5}\right) - \left(-\frac{1}{3}\right) = \frac{2}{15}$$

$$\left(-\frac{1}{3}\right)^2 - \frac{2}{5} = \left(-\frac{13}{45}\right)$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{27}{50}$$

$$\left(\frac{3}{5}\right) + \left(-\frac{2}{5}\right) = \frac{1}{5}$$

$$\left(-\frac{2}{5}\right)^3 + \frac{1}{5} = \frac{17}{125}$$

$$\left(-\frac{3}{4}\right)^2 + \frac{2}{5} = \frac{77}{80}$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{103}{180}\right)$$

$$\left(-\frac{1}{6}\right) + \left(-\frac{1}{3}\right) = \left(-\frac{1}{2}\right)$$

$$\left(-\frac{1}{3}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{1}{2}\right) - \frac{1}{2} = 0$$